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Time : 3 Hours

Max. Marks : 70

Instruction : Ans wers should be written completely either in English or

in Kannada.

SECTION - A
RN - D
1. Answer any five sub-questions. Each syb-
8 3NS CRYT3 2 WT-ZBIne
a) What is Tabulation ?
W3 £TTED 0TTe 9

b) Expand TRT and FRT.
TRT OWES) FFITOSJES.Zt QADR WICWD.
¢) IF CV: 25% and variance is 225, find X .
CV:25% =onn W3 225 AWIN, RN FH0H00T X S, FORBLBOWD.
d) Mention two methods of measuring consumer price index.
WYTTTT 28z 363 AR, 08 TWRTTMEL AR 2
e) How range is calculated ?
@o@o’d&g{ zen 6653338 ?
f) What do you mean by current year ?
WY IR Q0BT 2

g) If Q, is 40, Qg is 90 what is its co-efficient of Quartile deviaition 7
Q; =40, Q; = 90 =53 33 w¥BrE DuwdchH X OEIBBI), FoRERBOWD.

question carries 2 marks. (5x2=10)
1 eU308. =8 emw—ajgﬁ 2 903nd.

SECTION - B
SN -

' i i ks. (3x6=18)
Answer any three questions. Each question carries 6 mar
B3 FPNT CINRTOTTR Foedhd BZnen wugon. T8 B 6 esosnisd.

2. Calculate Quartile deviation from the following datam.
83 FINT BRSO BFFT WO, FOROLEBOWD.

X 10 | 20 | 30 | 40 | 50 | 60
F 28 36 <t ] o2 | 40 | 16

P.T.O.
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3. From the following data compute median.
B3 BINT BRESCWOT WO, TR, TORIEEOWD.

Wages (In Rs.) No. of Workers

3RO (Br.) TONFET "»3"0955
- More than 10 115
More than 20 103
More than 30 88
More than 40 68
More than 50 43
More than 60 23
More than 70 13

More than 80 3

4. Construct consumer price index using family budget method.

AR R G

WYBTITT o3, Mot 0TE[Y, FPNT T3 0T, B0 LOTRTI ATRBH Y, FOTOHROWD.

Commodity A B c | b E
TTEAD
Quantity (units) 2020 50 100 60 30 40
B,39989 (030 RED) 2020
Price 2020 6 2 4 10 8
332020 '
Price 2022 10 2

6 12
332022 b

5. ;ompute Standard deviation from the following data.
FENT TS0 QOFR, zscﬁodoebéodoag{ FOTO&LRAND.

X

25

26

27

28

29

F

10 °

12

12

8

5
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6. Calculate Arithmetic mean of the students from the following data.
2 3TN 203NV QTR PFTY TR0 @osn’ee‘s% B0R0&HRCAD.
Marks 0-10 10-20 20-30 30-40
LHOTNED
Number of Students 20 15 28 33
(RN 50936
SECTION-C
QRN - A
Answer any three questions. Each question carries 14 marks. (3x14=42)

B2 FINT CARPYTOTTR TR BIN9R GVZ0R. T,8 T3 14 ©0FnsD.

7. Construct Fisher's index for the following data and show it satisfies TRT and FRT.
B3 FPNT THREECWOT HTTF LTI A2, 08T, FOTOEROWD. TRT &2 FRT

waegpe;:% %@m@mgdowas% 2Re03.

2021 2022

Commodity Price | Quantity | Price Quantity
Calaniatal s e TO=Ie 33 TO=Ieee

A 8 50 20 26

B 2 15 6 10

C 1 20 2 25

D 2 10 5 8

E 1 40 3 30

8. Find out Pearsons co-efficient of skewness from the following data.

B3 IINT FRE30W0T FOFF LODTRTTIT rHm0ge 38, B3OSR FomSbE0W0.

Age 0-10|110-20|20-30|30-40| 40-50 | 50-60
T
~

60-70

Number of 5 15 25 35 45 55
Persons

dzs_é‘o:‘o 730935

35 25

70-80
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9. Two Brand Tyres are tested for their life and the following results were obtained.
DTB) W), [0 H T NI, TOSeATOWB F0BY &3 IFFORTT FOT0ITH)
ijeloveloplover: bl

Life (Months) | 20-25 25-30 30-35 | 35-40 | 40-45
Tyre X 1 22 64 10 3
Tyre Y 3 21 74 1 1

If consistency is the Criterion, which brand of Tyres would you prefer ?
3%)63 BRITOBITT VY ORI 0NN ST, Qer0Sed ?

10. Draw less than and more than ogives from the following data and locate the
median.

81 B980T TT03NYOT DTOTND RV V9=0D 8@ [ 6@3—333& Tur. DG
ROIROODTY, 380, TSR

Wages Number of Workers
2RO FORMTT Foe3,
100 - 200 20
200 - 300 40
300 - 400 60
400 - 500 80
500 — 600 100
600 — 700 120

11. Calculate mean and median from the following data.
23 FPNT [R&ECWOT FTIRO BRI WG BRYIY, FOTLROWD.

Marks F
More than 10 100
More than 20 95
More than 30 82
More than 40 60
More than 50 45
More than 60 36
More than 70 20
More than 80 10




